MIAM I-DA:D:E’ MIAMI-DADE COUNTY, FLORIDA
e METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Amarr Garage Doors.
5931 Grassy Creek Blvd.
Winston-Salem, N.C. 27105

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division and
accepted by the board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where
allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Division (in Miami Dade County) and/or the AHJ (in areas other than Miami-Dade County)
reserve the right to have this product or material tested for quality assurance purposes. If this product or
material fails to perform in the accepted manner, the manufacturer will incur the expense of such testing
and the AHJ may immediately revoke, modify, or suspend the use of such product or material within
their jurisdiction. BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade
County Product Control Division that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity
Hurricane Zone of the Florida Building Code.

DESCRIPTION: Sectional Garage Door 9’ Wide.

APPROVAL DOCUMENT: Drawing No.SFC-590-011, Sheets 1 of 1, titled “Model #1200 WeatherGuard Plus
w/DuraSafe Short Panel, Long Panel and Flush Panel,” dated 06/26/01, prepared by Amarr Garage Doors. signed
and sealed by T. L. Shelmerdine, PE. bearing the Miami-Dade County Product Control Approval stamp with the
NOA number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large & Small Missile.

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Candido F. Font PE.

NOA No: 01-1017.02
Expiration Date: May 16, 2007
Approval Date: May 16, 2002
Page 1




16 GA. GALV, RESIDENTIAL—, *
TOP ROLLER BRACKET

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2> 1/74° x 1/2°
BOLT & NUT PER BRACKET

20 GA GALV. STEEL SECTION STRAP
LOCATED AT EA. CENTER HINGE

—

B2

ATTACHED W/ DOUBLE SIDED TAPE
18”7 SEC. = 2° x 10 1/2°

21 SEC. = 2° x 13 1/2°

- (-]
ATTACHED W/ (4> 1/4' x 3/4’
HEX HEAD SCREWS PER BRACKET

7/16° BOLT RETAINER

14GA. DURASAFE
CENTER HINGE ATTACHED "
W/ (4) 1/4° x 3/4°
HEX HEAD SCREWS

/ 24 GA, MIN EXTERIDR SKIN
WITH G-40 GALV. & BAKED
ON POLYESTER TOP CDAT

3 15/16°W x 3 5/8°H X 22 GA. ~
(3 5/8° R-TRUSS) GALV. STEEL
R-TRUSS ATTACHED W/ (2) 1/4" ~
x 3/4° HEX HEAD SCREWS AT
EACH END STILE AND <2 1/4* x -~

3 GA. FLAG BRACKET 7

|

3/4° HEX HEAD SCREWS AT
EACH SEC. STRAP

,

e
SPLICE TRACKS AT THIS LOCATION
W/ (4) 1/4°~20 TRACK SPLICE BOLTS & NUTS _
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8" ~

:.::. LAG BOLTS
TYPICAL TOP FIXTURES ~ S1 , .:.:,:.
2%
N.T.S. 1 , TYPICAL DURASAFE CENTER HINGE /S1) - 19050 (1) 5/16" DIA. x 1-5/8" ~
N.TS. 2 R LAG BOLT ATTACHED TO JAMB
A AT EA. JAMB BRACKET .
P
2 1
= 12 GA. GALV. STEEL 7
7 194 o JAMB BRACKETS
= 2’ ) 3 ATTACHED W/ (1) 1/4™-20 ~
H | s TRACK SPLICE BOLT & NUT
L 18 3 ] ol (SPLICE) OR (2) RIVETS
- H
- B i 7 GA, MIN ~
d INTERIOR SKIN G o
%] 1’ o teeti S
5 ;
7 MAX B0 18" i =L !
G . . 7
, IL, b - ’ 2y 77 ] .
i ] ¢ r
—— 18 2]’ —
]
N 1 11
/ 194¢ = = 21’ A
i i
, g ‘ TRACK CONFIGURATION FOR 6'6” UP TO 8 TALL DOORS ,
10%‘ 10§ - - N.T.S. INTERIOR OF GARAGE -
LIFT HANDLE JAMB BRACKET LOCATIONS -
54" i;:A A[BJC|DJEJFJGJH]S T MAX WD 80T =
Y I} ra? ' . [ | | ] ] ¥ ]
s s ; ; s s DR —
v MAX 2~ e CFC-FREE EXPANDED — DESIGN LOADS
SECTION HEIGHT 8’ SECTION HEIGHT POLYSTYRENE INSULATION 7'-6%) 37| 1112443543537 65175 | 82" / 42340 BS/FT orroms 2 a3
’_NF ] ] # r s I r ’ | -279.0 LBS,
INSIDE ELEVATION - 1 LB DENSITY Ry BASF orP. [ g-0’| 3" | 14*] 274 38°[46[56°|68°]78" | 88 /FT POSTIVE PRESSURE
. NTS BBRS BOTTOM BRACKET . () NEGATIVE PRESSURE
12 GA DURASAFE .T.S. .078° THICK ATTACHED
END HINGE ATTACHED W/(3) 1/4° X 3/4° - ONT. ALUM, EXTRUSION
W/ @ 174 x 3/4 16 BALL STEEL HEX HEAD SCREWS WITH A W/ CONT. VINYL ASTRAGAL
HEX HEAD SCREWS o ROLLER W/5° STEM 095’ BRACKET SLIDER
> REV | DESCRPTION OF REVISONS [ [py
©
0 SPECIFICATIONS AND NOTES
SLIDE LOCK ENGAGES INTD VERTICAL ~
. 1. ALl THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
(1> 14GA. DURASAFE %‘4 TRACK ON BOTH SIDES 5/8° MIN . SECTION A—A (SIDE VIEW) OM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTIC BS. - MAX SIZE
. < ENGAGEMENT COMFORMING TD SFBC N E— THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD 9 x B .~
R“L‘—ERV‘;”E%EIR/ :,TTXA%'}EIE _ d 3603-2, (SNAP LATCH DR SECURE LOCK N.T.S. TRANSFERRED FROM THE DOOR.
2 EACH CAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: .
HEX HEAD SCREWS OPTIONAL Taneg LB e MM S Ty M g
Q_9Q 3. DOORS AND HARDWARE WLL BE DESIGNED, MANUFACTURED

TYPICAL DURASAFE END HINGE

TYPICAL BBRS SAFETY BOTTOM BRACKET ~

Y

N.T.S.

STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

v/
3 3/4° MIN,

*I SIDERDOM |~

1/4-20 x S5/8°TRACK
SPLACE BOLT AND NUT

TRA

N.T.S.

2 5/8° x 4 3/8" x 18GA
BACKER PLATES

o PélLYSTYRENE CORE

7616. DIA,
BOLT RETAINER
(1) PER ROLLER

331 7 N.TS.

20 GA. GALV. STEEL
END STILE ATTACHED
TD PANEL (2> LANCES

2 5/8° x 3 1/2° x 18GA BACKER
PLATE LDCATED BEHIND EA. .
CENTER HINGE

SIS LSTTSTSESTK

0090949, 0,¢, 0 0.9,0.9.0.9,.0.9.
6%0%0%6%6%6% %" ] $6%6%070%%%%% "¢

"BASF Conpe. .
2" GALV. STEEL TRACK
TRACK THICKNESS .083"

CONT. VERTICAL JAMB 2X5
SOUTHERN YELLOW PINE /
(NO. 2 OR BETTER)

S

UNTING DETAI

J/

&/

5/16° x 1 5/8° LAG 7
CREW (1> PER

JAMB BRACKET WOOD JAMB A']'TACHMENT 10 STRUCTUREL g

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 27 GA. (.018) MIN. INTERIOR AND 24 GA. (,022) MIN
EXTERIOR ROLLED FORMED, G-40 GALVANIZATION W/ BAKED ON POLYESTER FINISH -

5. DOORS UPTO 7°0" HIGH CONSIST OF (4) SECTIONS AS SHOWN.
USE (1) 3-5/8" R-TRUSS PER SECTION
8. DOORS UPTO B'0" HIGH CONSIST OF
USE (1) 3-5/8" R—TRUSS PER SECTION
7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS  ~
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

8. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE

-

(5) SECTIONS AS SHOWN. -

WTH THE PROCEDURES DESCRIBED IN ASTM E330—80, ASCE 7-88, AND

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE SOUTH FLA. BUILDING CODE PROTOCALS 201, 202, 203 WIND LOAD DESIGN

5/16" X 3" LAG SCREWS STARTING 6- FROM ENDS THEN 18" O.C. (1 1/2" EMBEDMENT) * CRITERIA. THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED
USING THE FOLLOWING PARAMETERS:

2.X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE y A. 150 MPH PEAK GUST WIND SPEED (130 MPH FASTEST MILE) s

HILTI KWIK BOLT 3/8" X 4" STARTING 6° FROM ENDS THEN Z4" O.C. (2 1/2" EMBEDMENT) B. DOOR CAN BE INSTALLED WITH 5 FEET OF DOORS WD

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6 FROM ENDS THEN 24" 0.C. (1 1/4"

EMBEDMEN

v

ITW/RAMSET REDHEAD (TRU~BOLT) 3/8" X 4" STARTING 6° FROM ENDS THEN 24" O.C. (2

1/2" EMBEDMENT)

2. X 6 VERTICAL JAMR ATTACHMENT TO C-80 BLOCK

HILT! SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 16" O.C. (1 1/4" -

EMBEDMENT)
ITW/RAMSET TAPCON 1/4° X 2-3/4" STARTING 6" FROM ENLS, USE PAIRS OF
FASTENERS (3" APART) AT 16" 0.C.(1 1/4° EMBEDMENT)

-

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. .

SPREPARATION OF WOOD JAMBS BY OTHERS

INSIDE THE EDGE STRIP, DUT NOT EXEEUING
C. 25 MEAN ROOF HEIGHT AT ANY SLOPE
D. IMPORTANCE FACTOR OF 1.05
E. EXPOSURE RATING OF C

9. THIS APPROVAL REQUIRES THE MANUFACTURER TO DO TESTING OF
COILS USED TO FABRICATE DOOR PANELS UNDER THIS NOTICE
A MINIMUM OF 2 SPECIMENS SHALL BE CUT FROM EACH COIL
TESTED ACCORDING TO ASTM E—B BY A DADE COUNTY APPROVED LAB
SELECTED AND PAID BY THE MANUFACTURER. EVERY 3 MONTHS, 4 TIMES A
YEAR, THE MANUFACTURER SHALL MAIL TO THIS OFFICE: A COPY OF THE TEST
REPORTS WITH CONFIRMATION THAT THE SPECIMENS WERE SELECTED FROM
COILS AT THE MANUFACTURER PRODUCTION FACILITIES. AND A NOTARIZED
STATEMENT FROM THE MANUFACTURER THAT ONLY COILS WITH YIELD STRENGTH
OF 31,000 PSI OR MORE SHALL BE USED TO MAKE DOOR PANELS FOR DADE
COUNTY UNDER THIS NOTICE OF ACCEPTANCE.

TH .
DESIGN .

DESIGN LOADS
+52.0 PSF
—62.0 PSF

LARGE MISSLE
IMPACT -
RESISTANCE

5931 GRASSY CREEK BLVD,

WINSTON-SALEM, N.C.

27105

MODEL #1200-D WeatherGuard Plus w/DuraSafe
Short Panel, Long Panel, and Flush Panel

SZE| DRAWBY DU | DA 06/28/01
B[ cecxen gy DATE

DRAWNG NUMBER

SFC-590-011

ENGNEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579

SHEET 1 OF 1




